## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species:CUTTHROATRun:WESTSLOPE

Stock: KING LK (PEND)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	325,000.00 105,000	420
Receive		
Planted	100,000	400

#### **Estimated Brood Data**

Egg Take Goal 325,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2008	10/2008	SPOKANE HATCHERY	105,000	250.0	<b>420</b> JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	15,000	250.0	60	JUVENILE	STEVENS CO LAKES		
10/2008	10/2008	70,000	250.0	280	JUVENILE	PEND OREILLE CO LAKES		
10/2008	10/2008	15,000	250.0	60	JUVENILE	FERRY CO LAKES		

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	22,500	225
Planted	22,000	220

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	05/2009	05/2009	SPOKANE HATCHERY	22,500	100.0	225 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	6,500	100.0	65	JUVENILE	STEVENS CO LAKES		
06/2009	06/2009	12,000	100.0	120	JUVENILE	PEND OREILLE CO LAKES		
06/2009	06/2009	3,500	100.0	35	JUVENILE	FERRY CO LAKES		

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	34,500	439
Receive	235,000	
Planted	185,500	1,855

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	140,000			EGGS EYED
Received	12/2008	12/2008	SPOKANE HATCHERY	95,000			EGGS EYED
Shipped	05/2009	05/2009	DAVIS LK NP	12,500	100.0	125	JUVENILE
Shipped	05/2009	05/2009	IONE NET PENS	22,000	70.0	314	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	97,000	100.0	970	JUVENILE	STEVENS CO LAKES		
05/2009	05/2009	23,500	100.0	235	JUVENILE	PEND OREILLE CO LAKES		
05/2009	05/2009	65,000	100.0	650	<b>JUVENILE</b>	FERRY CO LAKES		

Memo: 95,000 are Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW **Run:** REDBAND

**Stock:** PHALON LK (STEV)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	200,000.00 100,000	2,000
Receive		
Planted	2,000	67

#### **Estimated Brood Data**

Egg Take Goal 200,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	03/2009	03/2009	SHERMAN CR HATCHERY	100,000	50.0	2,000	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	2,000	30.0	67	JUVENILE	STEVENS CO LAKES		

Memo: Juveniles collected from Kettle River tribs; held at Phalon Lk for ripening.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW **Run:** REDBAND

**Stock:** PHALON LK (STEV)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	200,000.00 110,000	2,000
Receive		
Planted	2,000	67

#### **Estimated Brood Data**

Egg Take Goal 200,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	05/2009	05/2009	SHERMAN CR HATCHERY	10,000			EGGS EYED
Shipped	03/2010	03/2010	SHERMAN CR HATCHERY	100,000	50.0	2,000	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	2,000	30.0	67	JUVENILE	STEVENS CO LAKES		

Memo: Juveniles collected from Kettle River tribs; held at Phalon Lk for ripening.

# Future Brood Document 2008 Final COTTONWOOD CR POND

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species:STEELHEADRun:SUMMERStock:WALLOWA RBrood Origin:HATCHERYIntegrated/Segregated:SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	162,500	27,083
Planted	160,000	35,556

#### **Estimated Brood Data**

Egg Take Goal

Memo:

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	02/2009	02/2009	LYONS FERRY HATCHERY	162,500	6.0	27,083	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	140,000	4.5	31,111	JUVENILE	GRAND RONDE R35.2192	AD	
04/2009	04/2009	20,000	4.5	4,444	JUVENILE	GRAND RONDE R35.2192	AD+LV	✓

# Future Brood Document 2008 Final COTTONWOOD CR POND

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

Species:STEELHEADRun:SUMMERStock:WALLOWA R

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	220,000.00 220,000	
Receive	162,500	27,083
Planted	160,000	35,556

#### **Estimated Brood Data**

Egg Take Goal 220,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	03/2009	04/2009	LYONS FERRY HATCHERY	220,000			EGGS GREEN
Received	02/2010	02/2010	LYONS FERRY HATCHERY	162,500	6.0	27,083	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	140,000	4.5	31,111	JUVENILE	GRAND RONDE R35.2192	AD	✓
04/2010	04/2010	20,000	4.5	4,444	JUVENILE	GRAND RONDE R35.2192	AD+LV	

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive		
Planted	77,500	12,917

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	77,500	6.0	12,917	JUVENILE	CURLEW LK (FERR)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	80,000	800
Planted	77,500	12,917

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	05/2009	05/2009	SPOKANE HATCHERY	80,000	100.0	800 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	77,500	6.0	12,917	JUVENILE	CURLEW LK (FERR)		

# Future Brood Document 2008 Final DAVIS LK NP

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	12,500	125
Planted	12,000	2,400

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	05/2009	05/2009	COLVILLE HATCHERY	12,500	100.0	125 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	12,000	5.0	2,400	JUVENILE	DAVIS LK (PEND)		

Memo: Triploids.

# Future Brood Document 2008 Final DAYTON ACCLIMA. POND

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	87,000	14,500
Planted	85,000	18,889

Page 11

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Lif	
Received	02/2009	02/2009	LYONS FERRY HATCHERY	87,000	6.0	<b>14,500</b> JU	VENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	65,000	4.5	14,444	JUVENILE	TOUCHET R 32.0097	AD	□
04/2009	04/2009	20,000	4.5	4,444	JUVENILE	TOUCHET R 32.0097	AD+LV	

# Future Brood Document 2008 Final DAYTON ACCLIMA. POND

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	86,000	14,333
Planted	85,000	18,889

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	LYONS FERRY HATCHERY	86,000	6.0	<b>14,333</b> JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	65,000	4.5	14,444	JUVENILE	TOUCHET R 32.0097	AD	✓
04/2010	04/2010	20,000	4.5	4,444	JUVENILE	TOUCHET R 32.0097	AD+LV	

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	25,500	425
Planted	24,000	1,600

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	FORD HATCHERY	25,500	60.0	<b>425</b> JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	24,000	15.0	1,600	JUVENILE	DEER LK (STEV)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	15,000	750
Planted	14,500	2,900

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	SPOKANE HATCHERY	15,000	20.0	750 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Triploids

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	25,500	425
Planted	24,000	1,600

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2009	10/2009	FORD HATCHERY	25,500	60.0	425	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	24,000	15.0	1,600	JUVENILE	DEER LK (STEV)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	15,000	750
Planted	14,500	2,900

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	SPOKANE HATCHERY	15,000	20.0	750 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Triploids

# Future Brood Document 2008 Final DIAMOND LK NP

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	12,500	625
Planted	12,000	2,400

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2008	10/2008	SPOKANE HATCHERY	12,500	20.0	625	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	12,000	5.0	2,400	JUVENILE	DIAMOND LK (PEND)		

# Future Brood Document 2008 Final DIAMOND LK NP

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	12,500	625
Planted	12,000	2,400

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	SPOKANE HATCHERY	12,500	20.0	625 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	12,000	5.0	2,400	JUVENILE	DIAMOND LK (PEND)		

TA /	T	_
IV	ıem	$\mathbf{O}$

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	2,500	500
Planted	2,400	4,800

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	04/2009	04/2009	SPOKANE HATCHERY	2,500	5.0	500 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
11/2010	12/2010	1,250	0.5	2,500	BROODSTOCK	STEVENS CO LAKES		
11/2010	12/2010	1,150	0.5	2,300	BROODSTOCK	SPOKANE CO LAKES		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	Total Pounds
EggTake Shipping		
Receive	2,500	33
Planted	1,800	1,800

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2008	06/2008	SPOKANE HATCHERY	2,500	75.0	33 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
11/2009	12/2009	900	1.0	900	BROODSTOCK	STEVENS CO LAKES		
11/2009	12/2009	400	1.0	400	BROODSTOCK	SPOKANE CO LAKES		
11/2009	12/2009	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		

Memo: Goldendale, Tokul, Chelan Transfers are Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	153,500	2,558
Receive		
Planted	572,000	9,533

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2008	10/2008	ELECTRIC CITY NP	128,000	60.0	2,133	JUVENILE
Shipped	10/2008	10/2008	DEER LK NET PENS	25,500	60.0	425	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	572,000	60.0	9,533	JUVENILE	BANKS LK (GRAN)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive		
Planted	265,300	53,060

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2009	04/2009	30,000	5.0	6,000	JUVENILE	WHITMAN CO LAKES		
03/2009	04/2009	66,400	5.0	13,280	JUVENILE	STEVENS CO LAKES		
03/2009	04/2009	59,000	5.0	11,800	<b>JUVENILE</b>	SPOKANE CO LAKES		
03/2009	04/2009	54,900	5.0	10,980	<b>JUVENILE</b>	PEND OREILLE CO LAKES		
03/2009	04/2009	51,500	5.0	10,300	<b>JUVENILE</b>	LINCOLN CO LAKES		
03/2009	04/2009	3,500	5.0	700	JUVENILE	FERRY CO LAKES		

Memo: 50,000 Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	1,850,000.00 668,000	
Receive	2,500	500
Planted	2,400	4,800

#### **Estimated Brood Data**

**Egg Take Goal** 1,850,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	MOSSYROCK HATCHERY	75,000			EGGS EYED
Shipped	12/2008	12/2008	SPOKANE HATCHERY	375,000			EGGS EYED
Shipped	12/2008	12/2008	CHELAN HATCHERY	55,000			EGGS EYED
Shipped	12/2008	12/2008	GOLDENDALE HATCHERY	10,000			EGGS EYED
Shipped	12/2008	12/2008	VANCOUVER HATCHERY	25,000			EGGS EYED
Shipped	12/2008	12/2008	PUYALLUP HATCHERY	110,000			EGGS EYED
Shipped	12/2008	12/2008	KENDALL CR HATCHERY	18,000			EGGS EYED
Received	04/2010	04/2010	SPOKANE HATCHERY	2,500	5.0	500	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
11/2011	12/2011	1,250	0.5	2,500	BROODSTOCK	STEVENS CO LAKES		
11/2011	12/2011	1,150	0.5	2,300	BROODSTOCK	SPOKANE CO LAKES		

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	400,000.00 186,000	
Receive	2,500	33
Planted	1,800	1,800

#### **Estimated Brood Data**

Egg Take Goal 400,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	12/2008	SPOKANE HATCHERY	50,000			EGGS EYED
Shipped	12/2008	12/2008	CHELAN HATCHERY	100,000			EGGS EYED
Shipped	12/2008	12/2008	GOLDENDALE HATCHERY	30,000			EGGS EYED
Shipped	12/2008	12/2008	TOKUL CR HATCHERY	6,000			EGGS EYED
Received	06/2009	06/2009	SPOKANE HATCHERY	2,500	75.0	33	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
11/2010 11/2010 11/2010	11/2010 12/2010 12/2010	400 900 500	1.0 1.0 1.0	400 900 500	BROODSTOCK BROODSTOCK BROODSTOCK	SPOKANE CO LAKES STEVENS CO LAKES PEND OREILLE CO LAKES		

Memo: Goldendale, Tokul, Chelan Transfers are Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	153,500	2,558
Receive	1,400,000	
Planted	1,152,000	10,500

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LK WHATCOM HATCHERY	1,400,000			EGGS EYED
Shipped	10/2009	10/2009	ELECTRIC CITY NP	128,000	60.0	2,133	JUVENILE
Shipped	10/2009	10/2009	DEER LK NET PENS	25,500	60.0	425	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	40,000	600.0	67	JUVENILE	DEEP LK (GRAN)		
05/2009	05/2009	440,000	600.0	733	<b>JUVENILE</b>	BANKS LK (GRAN)		
05/2009	05/2009	100,000	600.0	167	<b>JUVENILE</b>	CHAPMAN LK (SPOK)		
10/2009	10/2009	572,000	60.0	9,533	JUVENILE	BANKS LK (GRAN)		

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: SULLIVAN LK STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	370,000	
Planted	320,000	5,333

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	01/2009	SPOKANE HATCHERY	370,000			EGGS EYED

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	320,000	60.0	5.333	JUVENILE	BANKS LK (GRAN)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

		Total #	<b>Total Pounds</b>
	EggTake Shipping		
1	Receive	370,000	
]	Planted	265,300	53,060

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	370,000		EGGS EYED

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
03/2010	04/2010	30,000	5.0	6,000	JUVENILE	WHITMAN CO LAKES		
03/2010	04/2010	66,400	5.0	13,280	JUVENILE	STEVENS CO LAKES		
03/2010	04/2010	59,000	5.0	11,800	JUVENILE	SPOKANE CO LAKES		
03/2010	04/2010	54,900	5.0	10,980	JUVENILE	PEND OREILLE CO LAKES		
03/2010	04/2010	51,500	5.0	10,300	<b>JUVENILE</b>	LINCOLN CO LAKES		
03/2010	04/2010	3,500	5.0	700	<b>JUVENILE</b>	FERRY CO LAKES		

Memo: 50,000 Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	1,000,000.00 123,000	1,247
Receive		
Planted	20,000	200

#### **Estimated Brood Data**

**Egg Take Goal** 1,000,000

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	11/2008	11/2008	KENDALL CR HATCHERY	10,000			EGGS EYED
Shipped	12/2008	12/2008	CHELAN HATCHERY	10,000			EGGS EYED
Shipped	05/2009	05/2009	COLUMBIA BASIN HATCH	38,000	100.0	380	JUVENILE
Shipped	06/2009	06/2009	SPOKANE HATCHERY	65,000	75.0	867	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	100.0	200	JUVENILE	PEND OREILLE CO LAKES		

Memo: Even years only for Goldendale.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive		
Planted	20,000	3,333

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	20,000	6.0	3,333	JUVENILE	PEND OREILLE 62.0002		

Memo: Triploids.

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	22,000	314
Planted	20,000	3,333

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	05/2009	05/2009	COLVILLE HATCHERY	22,000	70.0	314 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	20,000	6.0	3,333	JUVENILE	PEND OREILLE 62.0002		

Memo: Triploids.

# Future Brood Document 2008 Final LK ROOSEVELT NP (COL

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	750,000	50,000
Planted	740,000	148,000

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2008	10/2008	SHERMAN CR HATCHERY	300,000	15.0	20,000	JUVENILE
Received	10/2008	10/2008	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	740,000	5.0	148,000	JUVENILE	LK ROOSEVELT (53)	AD	

# Future Brood Document 2008 Final LK ROOSEVELT NP (COL

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	750,000	50,000
Planted	740,000	148,000

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2009	10/2009	SHERMAN CR HATCHERY	300,000	15.0	20,000	JUVENILE
Received	10/2009	10/2009	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	740,000	5.0	148,000	JUVENILE	LK ROOSEVELT (53)	AD	

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	5,000	250
Planted	4,500	900

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	SPOKANE HATCHERY	5,000	20.0	250 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	4,500	5.0	900	JUVENILE	LOON LK (STEV)		

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	5,000	250
Planted	4,500	900

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	SPOKANE HATCHERY	5,000	20.0	250 JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	4,500	5.0	900	JUVENILE	LOON LK (STEV)		

# Future Brood Document 2008 Final LYONS FERRY HATCHERY

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

Species: CHINOOK

**Run:** FALL

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	450,000	37,500
Receive		
Planted	450,000	45,000

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	02/2009	02/2009	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE
Shipped	03/2009	03/2009	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE
Shipped	03/2009	03/2009	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE	VIE	<b>✓</b>
04/2009	04/2009	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE	AD+VIE	

Memo:

## Future Brood Document 2008 Final LYONS FERRY HATCHERY

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

Species: CHINOOK
Run: SPRING

Stock: TUCANNON R 35.0009

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	116,000	3,867
Receive		
Planted		

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Sta	age
Shipped	10/2008	10/2008	TUCANNON HATCHERY	116,000	30.0	<b>3,867</b> JUVEN	IILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type Ta	agged
------------	-----------------	-------------	-----	--------------------	------------	--------------	--------------	-------

Memo: For release from Curl Lake Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

Stock: IDAHO- KAMLOOPS

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	50,000	3,333
Receive	52,000	693
Planted	32,000	093
1 failted		

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	07/2008	07/2008	TUCANNON HATCHERY	52,000	75.0	693	JUVENILE
Shipped	10/2008	10/2008	IDAHO -FISH & GAME	50,000	15.0	3,333	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	<b>FPP</b>	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
-------------------	-----------------	-------------	------------	--------------------	------------	--------------	-----------	--------

Memo: Triploids.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive		
Planted	101,600	41,186

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	03/2009	16,000	2.5	6,400	JUVENILE	FRANKLIN CO LAKES		
02/2009	03/2009	3,600	2.5	1,440	JUVENILE	ADAMS CO LAKES		
02/2009	03/2009	30,500	2.5	12,200	JUVENILE	COLUMBIA CO LAKES		
02/2009	03/2009	500	0.7	746	JUVENILE	COLUMBIA CO LAKES		
02/2009	03/2009	3,500	2.5	1,400	JUVENILE	WHITMAN CO LAKES		
02/2009	03/2009	27,500	2.5	11,000	JUVENILE	WALLA WALLA CO LAKES		
02/2009	03/2009	20,000	2.5	8,000	JUVENILE	ASOTIN CO LAKES		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species: CHINOOK

**Run:** FALL

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	4,700,000.00 3,588,000	56,167
Receive		
Planted	850,000	53,000

#### **Estimated Brood Data**

**Egg Take Goal** 4,700,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	12/2008	OREGON-UMATILLA HATCHERY	800,000			EGGS EYED
Shipped	12/2008	12/2008	OREGON- IRRIGON HATCHERY	738,000			EGGS EYED
Shipped	12/2008	12/2008	IDAHO -FISH & GAME	200,000			EGGS EYED
Shipped	05/2009	05/2009	NEZ PERCE TRIBAL FAC	500,000	75.0	6,667	JUVENILE
Shipped	05/2009	05/2009	NEZ PERCE TRIBAL FAC	500,000	75.0	6,667	JUVENILE
Shipped	05/2009	05/2009	NEZ PERCE TRIBAL FAC	400,000	75.0	5,333	JUVENILE
Shipped	02/2010	02/2010	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE
Shipped	03/2010	03/2010	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE
Shipped	03/2010	03/2010	NEZ PERCE TRIBAL FAC	150,000	12.0	12,500	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	200,000	50.0	4,000	JUVENILE	LYONS FERRY REL.SITE	AD	<b>✓</b>
06/2009	06/2009	200,000	50.0	4,000	<b>JUVENILE</b>	LYONS FERRY REL.SITE	AD	<b>✓</b>
04/2010	04/2010	225,000	10.0	22,500	JUVENILE	LYONS FERRY REL.SITE	VIE	<b>✓</b>
04/2010	04/2010	225,000	10.0	22,500	<b>JUVENILE</b>	LYONS FERRY REL.SITE	AD+VIE	✓

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species: CHINOOK
Run: SPRING

Stock: TUCANNON R 35.0009

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	294,000.00 233,000	7,767
Receive		
Planted		

#### **Estimated Brood Data**

Egg Take Goal 294,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2009	10/2009	TUCANNON HATCHERY	233,000	30.0	<b>7,767</b> JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type Ta	agged
------------	-----------------	-------------	-----	--------------------	------------	--------------	--------------	-------

Memo: For release from Curl Lake Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

Stock: IDAHO- KAMLOOPS

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	50,000	3,333
Receive	52,000	693
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	07/2009	07/2009	TUCANNON HATCHERY	52,000	75.0	693	JUVENILE
Shipped	10/2009	10/2009	IDAHO -FISH & GAME	50,000	15.0	3,333	JUVENILE

### **Estimated Release Data**

Start Date En	nd Date N	um Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
---------------	-----------	------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Triploids.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	Total Pounds
EggTake		
Shipping	161,750	2,667
Receive	280,000	
Planted	99,500	40,317

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	280,000			EGGS EYED
Shipped	12/2008	12/2008	REG 1 ED COOPS	1,750			EGGS EYED
Shipped	05/2009	05/2009	IDAHO -FISH & GAME	160,000	60.0	2,667	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	50	0.7	71	JUVENILE	WHITMAN CO LAKES		
02/2009	02/2009	400	0.7	571	JUVENILE	WALLA WALLA CO LAKES		
02/2010	03/2010	15,500	2.5	6,200	JUVENILE	FRANKLIN CO LAKES		
02/2010	03/2010	16,000	2.5	6,400	JUVENILE	ADAMS CO LAKES		
02/2010	03/2010	28,700	2.5	11,480	<b>JUVENILE</b>	COLUMBIA CO LAKES		
02/2010	03/2010	50	0.7	75	JUVENILE	COLUMBIA CO LAKES		
02/2010	03/2010	2,500	2.5	1,000	JUVENILE	WHITMAN CO LAKES		
02/2010	03/2010	22,300	2.5	8,920	JUVENILE	WALLA WALLA CO LAKES		
02/2010	03/2010	14,000	2.5	5,600	JUVENILE	ASOTIN CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	520,000.00 87,000	14,500
Receive		
Planted	260,000	57,778

#### **Estimated Brood Data**

Egg Take Goal 520,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life S	Stage
Shipped	02/2009	02/2009	DAYTON ACCLIMA. POND	87,000	6.0	<b>14,500</b> JUVI	ENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	80,000	4.5	17,778	JUVENILE	TUCANNON R 35.0009	AD	
04/2009	04/2009	40,000	4.5	8,889	JUVENILE	LYONS FERRY REL.SITE	AD	
04/2009	04/2009	80,000	4.5	17,778	JUVENILE	WALLA WALLA R32.0008	AD	
04/2009	04/2009	7,000	4.5	1,556	JUVENILE	TUCANNON R 35.0009	ADLV+PT	✓
04/2009	04/2009	13,000	4.5	2,889	JUVENILE	TUCANNON R 35.0009	ADLV	✓
04/2009	04/2009	20,000	4.5	4,444	JUVENILE	LYONS FERRY REL.SITE	ADLV	✓
04/2009	04/2009	20,000	4.5	4,444	JUVENILE	WALLA WALLA R32.0008	ADLV	$\checkmark$

Memo: Goal varies due to IHN.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species:STEELHEADRun:SUMMERStock:WALLOWA RBrood Origin:HATCHERYIntegrated/Segregated:SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	162,500	27,083
Receive		
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2009	02/2009	COTTONWOOD CR POND	162,500	6.0	27,083	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TOUCHET R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	65,000.00	
Receive		
Planted	50,000	11,111

#### **Estimated Brood Data**

Egg Take Goal 65,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
--------------------	------------	-----------------	----------	--------	-----	---------------------	------------

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	10,000	4.5	2,222	JUVENILE	TOUCHET R 32.0097	PT	<b>✓</b>
04/2009	04/2009	40,000	4.5	8,889	JUVENILE	TOUCHET R 32.0097		✓

Memo: Direct stream releases above Dayton Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TUCANNON R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	65,000.00 50,500	9,182
Receive		
Planted		

#### **Estimated Brood Data**

Egg Take Goal 65,000

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2009	02/2009	TUCANNON HATCHERY	50,500	5.5	9,182 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Acclimate at Tucannon Hatchery prior to release.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** LYONS FERRY HATCHERY

**Brood Origin:** HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	500,000.00 86,000	14,333
Receive		
Planted	260,000	57,778

#### **Estimated Brood Data**

Egg Take Goal 500,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2010	02/2010	DAYTON ACCLIMA. POND	86,000	6.0	<b>14,333</b> JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	80,000	4.5	17,778	JUVENILE	TUCANNON R 35.0009	AD	
04/2010	04/2010	40,000	4.5	8,889	<b>JUVENILE</b>	LYONS FERRY REL.SITE	AD	
04/2010	04/2010	80,000	4.5	17,778	JUVENILE	WALLA WALLA R32.0008	AD	
04/2010	04/2010	7,000	4.5	1,556	JUVENILE	TUCANNON R 35.0009	ADLV+PT	$\checkmark$
04/2010	04/2010	13,000	4.5	2,889	JUVENILE	TUCANNON R 35.0009	ADLV	$\checkmark$
04/2010	04/2010	20,000	4.5	4,444	JUVENILE	LYONS FERRY REL.SITE	ADLV	$\checkmark$
04/2010	04/2010	20,000	4.5	4,444	JUVENILE	WALLA WALLA R32.0008	ADLV	✓

Memo: Goal varies due to IHN.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** WALLOWA R **Brood Origin:** HATCHERY

**Integrated/Segregated:** SEGREGATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	162,500	27,083
Receive	220,000	
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2009	04/2009	COTTONWOOD CR POND	220,000			EGGS GREEN
Shipped	02/2010	02/2010	COTTONWOOD CR POND	162,500	6.0	27,083	JUVENILE

### **Estimated Release Data**

a				m 4 l D l	T 10 G:	- · · · · · · · · · · · · · · · · · · ·		
Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TOUCHET R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	65,000.00	
Receive		
Planted	50,000	11,111

#### **Estimated Brood Data**

Egg Take Goal 65,000

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	10,000	4.5	2,222	JUVENILE	TOUCHET R 32.0097	PT	<b>✓</b>
04/2010	04/2010	40,000	4.5	8,889	JUVENILE	TOUCHET R 32.0097		✓

Memo: Direct stream releases above Dayton Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TUCANNON R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping	65,000.00 50,500	9,182
Receive		
Planted		

#### **Estimated Brood Data**

Egg Take Goal 65,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2010	02/2010	TUCANNON HATCHERY	50,500	5.5	9,182 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: Acclimate at Tucannon Hatchery prior to release.

## Future Brood Document 2008 Final REG 1 ED COOPS

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	67,450	
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	65,700			EGGS EYED
Received	12/2008	12/2008	LYONS FERRY HATCHERY	1,750			EGGS EYED

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo: 60,000 eggs the Catholic Church from Spokane Hatchery.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	300,000	20,000
Receive		
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2008	10/2008	LK ROOSEVELT NP (COL	300,000	15.0	<b>20,000</b> JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	<b>Num Release</b>	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	--------------------	-----	--------------------	------------	--------------	-----------	--------

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	300,000	12,000
Planted	285,000	28,500

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	SPOKANE TRIBAL HATCHERY	300,000	25.0	12,000 JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	285,000	10.0	28,500	JUVENILE	ROOSEVELT LK (OKAN)		

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	200,000	20,000
Shipping	300,000	20,000
Receive	300,000	3,333
Planted		

#### **Estimated Brood Data**

Egg Take Goal

Memo:

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	06/2009	06/2009	SPOKANE TRIBAL HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2009	10/2009	LK ROOSEVELT NP (COL	300,000	15.0	20,000	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Monday, July 21, 2008	Page 54

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW **Run:** REDBAND

**Stock:** PHALON LK (STEV)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	100,000	2,000
Planted	82,000	15,700

### **Estimated Brood Data**

**Egg Take Goal** 

Memo:

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	COLVILLE HATCHERY	100,000	50.0	2,000 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	75,000	5.0	15,000	JUVENILE	ROOSEVELT LK (OKAN)	AD	
06/2009	06/2009	5,000	10.0	500	JUVENILE	BIG SHEEP CR 61.0150	AD	$\sqcup$
09/2009	09/2009	2,000	10.0	200	<b>JUVENILE</b>	COLVILLE R 59.0003	AD	

Monday, July 21, 2008	Page :	55

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STURGEON WHITE

Run: NA

**Stock:** COLUMBIA R -UPPER

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	90,000.00 88,000	
Receive		
Planted		

#### **Estimated Brood Data**

Egg Take Goal 90,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	07/2008	07/2008	COLUMBIA BASIN HATCH	88,000			EGGS GREEN

### **Estimated Release Data**

Memo:

<b>Start Date</b>	<b>End Date</b>	Num Release	<b>FPP</b>	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
-------------------	-----------------	-------------	------------	--------------------	------------	--------------	-----------	--------

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW **Run:** REDBAND

**Stock:** PHALON LK (STEV)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	110,000	2,000
Planted	82,000	15,700

### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2009	05/2009	COLVILLE HATCHERY	10,000			EGGS EYED
Received	03/2010	03/2010	COLVILLE HATCHERY	100,000	50.0	2,000	JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	75,000	5.0	15,000	JUVENILE	ROOSEVELT LK (OKAN)	AD	
06/2010	06/2010	5,000	10.0	500	JUVENILE	BIG SHEEP CR 61.0150	AD	
09/2010	09/2010	2,000	10.0	200	<b>JUVENILE</b>	COLVILLE R 59.0003	AD	

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	2,500	500
Receive		
Planted	315,000	25,350

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	04/2009	04/2009	FORD HATCHERY	2,500	5.0	500 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
10/2008	10/2008	30,000	20.0	1,500	JUVENILE	STEVENS CO LAKES		
10/2008	10/2008	186,000	20.0	9,300	<b>JUVENILE</b>	SPOKANE CO LAKES		
03/2009	04/2009	15,000	5.0	3,000	<b>JUVENILE</b>	WHITMAN CO LAKES		
03/2009	04/2009	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2009	04/2009	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2009	04/2009	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2009	04/2009	1,000	5.0	200	<b>JUVENILE</b>	LINCOLN CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	2,500	33
Receive		
Planted	20,000	200

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	06/2008	06/2008	FORD HATCHERY	2,500	75.0	33 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	51,500	2,575
Receive		
Planted	335,300	38,406

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2008	10/2008	DIAMOND LK NP	12,500	20.0	625	JUVENILE
Shipped	10/2008	10/2008	WAITTS LK NET PENS	24,000	20.0	1,200	JUVENILE
Shipped	10/2008	10/2008	DEER LK NET PENS	15,000	20.0	750	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2008	10/2008	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2008	10/2008	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2008	10/2008	178,000	20.0	8,900	JUVENILE	FERRY CO LAKES		
03/2009	04/2009	1,000	5.0	200	JUVENILE	STEVENS CO LAKES		
03/2009	04/2009	65,000	5.0	13,000	JUVENILE	SPOKANE CO LAKES		
04/2009	04/2009	1,100	5.0	220	JUVENILE	PEND OREILLE CO LAKES		
03/2011	03/2011	300	0.2	1,796	BROODSTOCK	STEVENS CO LAKES		
03/2011	03/2011	600	0.2	3,593	BROODSTOCK	SPOKANE CO LAKES		
03/2011	03/2011	150	0.2	898	BROODSTOCK	PEND OREILLE CO LAKES		
03/2011	03/2011	150	0.2	898	BROODSTOCK	LINCOLN CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	10,000	500
Receive		
Planted	51,000	2,550

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	10/2008	10/2008	SULLIVAN LK CO-OP	5,000	20.0	250	JUVENILE
Shipped	10/2008	10/2008	LOON LK NET PEN	5,000	20.0	250	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2008 10/2008	10/2008 10/2008	45,000 6,000	20.0 20.0	2,250 300	JUVENILE JUVENILE	SPOKANE CO LAKES PEND OREILLE CO LAKES		

iemo	

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	27,500	750
Receive	375,000	
Planted	315,000	25,350

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	FORD HATCHERY	375,000			EGGS EYED
Shipped	05/2009	05/2009	COLUMBIA BASIN HATCH	25,000	100.0	250	JUVENILE
Shipped	04/2010	04/2010	FORD HATCHERY	2,500	5.0	500	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
10/2009	10/2009	30,000	20.0	1,500	<b>JUVENILE</b>	STEVENS CO LAKES		
10/2009	10/2009	186,000	20.0	9,300	<b>JUVENILE</b>	SPOKANE CO LAKES		
03/2010	04/2010	15,000	5.0	3,000	<b>JUVENILE</b>	WHITMAN CO LAKES		
03/2010	04/2010	10,000	5.0	2,000	<b>JUVENILE</b>	STEVENS CO LAKES		
03/2010	04/2010	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2010	04/2010	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2010	04/2010	1,000	5.0	200	<b>JUVENILE</b>	LINCOLN CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species:CUTTHROATRun:WESTSLOPEStock:KING LK (PEND)

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	105,000	420
Planted	123,800	7,900

#### **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	COLVILLE HATCHERY	105,000	250.0	<b>420</b> JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	46,000	20.0	2,300	JUVENILE	STEVENS CO LAKES		
05/2009 10/2010	06/2009 10/2010	76,000 1,800	20.0 1.0	3,800 1,800	JUVENILE BROODSTOCK	SPOKANE CO LAKES KING LK (PEND)		

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	25,000	258
Receive	50,000	
Planted	20,000	200

#### **Estimated Brood Data**

Egg Take Goal

Memo:

#### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	FORD HATCHERY	50,000			EGGS EYED
Shipped	05/2009	05/2009	COLVILLE HATCHERY	22,500	100.0	225	JUVENILE
Shipped	06/2009	06/2009	FORD HATCHERY	2,500	75.0	33	JUVENILE

#### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	100.0	200	JUVENILE	SPOKANE CO LAKES		

Page 64

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: SULLIVAN LK STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	400,000.00 370,000	
Receive		
Planted		

Page 65

#### **Estimated Brood Data**

Egg Take Goal 400,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	01/2009	FORD HATCHERY	370,000			EGGS EYED

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	<b>FPP</b>	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
-------------------	-----------------	-------------	------------	--------------------	------------	--------------	-----------	--------

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: SULLIVAN LK STOCK

**Brood Origin:** WILD

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	550,000.00	
Receive		
Planted	500,000	2,500

#### **Estimated Brood Data**

Egg Take Goal 550,000

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	500,000	200.0	2,500	JUVENILE	STEVENS CO LAKES		

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	8,000,000.00 4,817,200	3,375
Receive		ŕ
Planted	1,069,300	45,746

#### **Estimated Brood Data**

Egg Take Goal 8,000,000

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2008	12/2008	OMAK HATCHERY	375,000			EGGS EYED
Shipped	12/2008	12/2008	EELLS SPRINGS	230,000			EGGS EYED
Shipped	12/2008	12/2008	LYONS FERRY HATCHERY	280,000			EGGS EYED
Shipped	12/2008	12/2008	WSU RESEARCH (PULLMAN)	15,000			EGGS GREEN
Shipped	12/2008	12/2008	TUCANNON HATCHERY	175,000			EGGS EYED
Shipped	12/2008	12/2008	MESEBERG HATCHERY	115,000			EGGS EYED
Shipped	12/2008	12/2008	REG 1 ED COOPS	65,700			EGGS EYED
Shipped	12/2008	12/2008	CHELAN HATCHERY	725,000			EGGS EYED
Shipped	12/2008	12/2008	FORD HATCHERY	370,000			EGGS EYED
Shipped	12/2008	12/2008	SPOKANE TRIBAL HATCHERY	1,100,000			EGGS EYED
Shipped	12/2008	12/2008	COLVILLE HATCHERY	95,000			EGGS EYED
Shipped	12/2008	12/2008	COLVILLE HATCHERY	140,000			EGGS EYED
Shipped	12/2008	12/2008	WELLS HATCHERY	200,000			EGGS EYED
Shipped	01/2009	01/2009	COLUMBIA BASIN HATCH	800,000			EGGS EYED
Shipped	05/2009	05/2009	CURLEW LK NET PEN	80,000	100.0	800	JUVENILE
Shipped	10/2009	10/2009	DIAMOND LK NP	12,500	20.0	625	JUVENILE
Shipped	10/2009	10/2009	DEER LK NET PENS	15,000	20.0	750	JUVENILE

Memo:

## WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

Shipped 10/2009 10/2009 WAITTS LK NET PENS **24,000** 20.0 **1,200** JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	350,000	100.0	3,500	JUVENILE	SPOKANE CO LAKES		
05/2009	05/2009	283,000	100.0	2,830	JUVENILE	LINCOLN CO LAKES		
05/2009	05/2009	101,000	100.0	1,010	JUVENILE	FERRY CO LAKES		
10/2009	10/2009	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2009	10/2009	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
.0/2009	10/2009	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
.0/2009	10/2009	178,000	20.0	8,900	JUVENILE	FERRY CO LAKES		
03/2010	04/2010	1,000	5.0	200	JUVENILE	STEVENS CO LAKES		
3/2010	04/2010	65,000	5.0	13,000	JUVENILE	SPOKANE CO LAKES		
03/2010	04/2010	1,100	5.0	220	JUVENILE	PEND OREILLE CO LAKES		
03/2012	03/2012	300	0.2	1,796	BROODSTOCK	STEVENS CO LAKES		
3/2012	03/2012	600	0.2	3,593	BROODSTOCK	SPOKANE CO LAKES		
03/2012	03/2012	150	0.2	898	BROODSTOCK	PEND OREILLE CO LAKES		
03/2012	03/2012	150	0.2	898	BROODSTOCK	LINCOLN CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	50,000	900
Receive	65,000	867
Planted	51,000	2,550

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	05/2009	05/2009	COLUMBIA BASIN HATCH	40,000	100.0	400	JUVENILE
Received	06/2009	06/2009	FORD HATCHERY	65,000	75.0	867	JUVENILE
Shipped	10/2009	10/2009	SULLIVAN LK CO-OP	5,000	20.0	250	JUVENILE
Shipped	10/2009	10/2009	LOON LK NET PEN	5,000	20.0	250	JUVENILE

#### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	45,000	20.0	2,250	JUVENILE	SPOKANE CO LAKES		
10/2009	10/2009	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		

SPOKANE TRIBE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	450,000	30,000
Receive		
Planted		

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2008	10/2008	LK ROOSEVELT NP (COL	450,000	15.0	30,000 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type Ta	agged
------------	-----------------	-------------	-----	--------------------	------------	--------------	--------------	-------

Memo:

#### SPOKANE TRIBE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	300,000	12,000
Receive	1,800,000	
Planted	500,000	7,143

#### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2009	01/2009	LK WHATCOM HATCHERY	1,800,000			EGGS EYED
Shipped	03/2010	03/2010	SHERMAN CR HATCHERY	300,000	25.0	12,000	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	200,000	70.0	2,857	JUVENILE	LK ROOSEVELT (53)		

TA /	T	_
IV	ıem	()

# Future Brood Document 2008 Final SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping Receive	<b>750,000</b> 1,100,000	33,333
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	1,100,000			EGGS EYED
Shipped	06/2009	06/2009	SHERMAN CR HATCHERY	300,000	90.0	3,333	JUVENILE
Shipped	10/2009	10/2009	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo:

# Future Brood Document 2008 Final SULLIVAN LK CO-OP

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	5,000	250
Planted	4,800	960

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	SPOKANE HATCHERY	5,000	20.0	250 JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	4,800	5.0	960	JUVENILE	SULLIVAN LK (PEND)		

# Future Brood Document 2008 Final SULLIVAN LK CO-OP

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	5,000	250
Planted	4,800	960

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	SPOKANE HATCHERY	5,000	20.0	250 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	4,800	5.0	960	JUVENILE	SULLIVAN LK (PEND)		

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** CHINOOK **Run:** SPRING

Stock: TUCANNON R 35.0009

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	116,000	3,867
Planted	116,000	10,311

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	LYONS FERRY HATCHERY	116,000	30.0	3,867 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	58,000	15.0	3,867	JUVENILE	TUCANNON R 35.0009	VIE	<b>~</b>
04/2009	04/2009	58,000	9.0	6,444	JUVENILE	TUCANNON R 35.0009	VIE	✓

Memo: Transferred at 25-30 fpp. For release from Curl Lake Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

Stock: IDAHO- KAMLOOPS

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping	52,000	693
Receive		
Planted		

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Shipped	07/2008	07/2008	LYONS FERRY HATCHERY	52,000	75.0	693 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	<b>FPP</b>	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
-------------------	-----------------	-------------	------------	--------------------	------------	--------------	-----------	--------

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive		
Planted	141,500	45,256

### **Estimated Brood Data**

**Egg Take Goal** 

#### **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2009	05/2009	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2009	05/2009	1,800	0.7	2,687	JUVENILE	COLUMBIA CO LAKES		
02/2009	05/2009	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
02/2009	05/2009	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2009	05/2009	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
04/2009	06/2009	10,000	3.5	2,857	JUVENILE	FRANKLIN CO LAKES		
04/2009	06/2009	59,500	3.5	17,000	JUVENILE	COLUMBIA CO LAKES		
04/2009	06/2009	9,000	3.5	2,571	JUVENILE	WHITMAN CO LAKES		
04/2009	06/2009	28,500	3.5	8,143	JUVENILE	WALLA WALLA CO LAKES		
04/2009	06/2009	30,000	3.5	8,571	JUVENILE	ASOTIN CO LAKES		
04/2009	06/2009	500	3.5	143	JUVENILE	GARFIELD CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

Species: CHINOOK
Run: SPRING

Stock: TUCANNON R 35.0009

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	233,000	7,767
Planted	225,000	20,000

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	LYONS FERRY HATCHERY	233,000	30.0	<b>7,767</b> JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	112,500	15.0	7,500	JUVENILE	TUCANNON R 35.0009	VIE	<b>✓</b>
04/2010	04/2010	112,500	9.0	12,500	JUVENILE	TUCANNON R 35.0009	VIE	<b>✓</b>

Memo: Transferred at 25-30 fpp. For release from Curl Lake Acclimation Pond.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

Stock: IDAHO- KAMLOOPS

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping Receive Planted	52,000 65,000	693

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2008	01/2008	IDAHO -FISH & GAME	65,000			EGGS EYED
Shipped	07/2009	07/2009	LYONS FERRY HATCHERY	52,000	75.0	693	JUVENILE

### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping	900	
Receive	175,000	
Planted	141,500	45,256

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2008	12/2008	SPOKANE HATCHERY	175,000			EGGS EYED
Shipped	12/2008	12/2008	REG 1 ED COOPS	900			EGGS EYED

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
02/2010	05/2010	300	0.7	448	JUVENILE	FRANKLIN CO LAKES		
02/2010	05/2010	1,800	0.7	2,687	<b>JUVENILE</b>	COLUMBIA CO LAKES		
02/2010	05/2010	250	0.7	373	JUVENILE	WHITMAN CO LAKES		
02/2010	05/2010	850	0.7	1,269	JUVENILE	WALLA WALLA CO LAKES		
02/2010	05/2010	800	0.7	1,194	JUVENILE	ASOTIN CO LAKES		
04/2010	06/2010	10,000	3.5	2,857	JUVENILE	FRANKLIN CO LAKES		
04/2010	06/2010	59,500	3.5	17,000	JUVENILE	COLUMBIA CO LAKES		
04/2010	06/2010	9,000	3.5	2,571	JUVENILE	WHITMAN CO LAKES		
04/2010	06/2010	28,500	3.5	8,143	JUVENILE	WALLA WALLA CO LAKES		
04/2010	06/2010	30,000	3.5	8,571	JUVENILE	ASOTIN CO LAKES		
04/2010	06/2010	500	3.5	143	JUVENILE	GARFIELD CO LAKES		

Memo:

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TUCANNON R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	50,500	9,182
Planted	50,000	11,111

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	LYONS FERRY HATCHERY	50,500	5.5	9,182 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	10,000	4.5	2,222	JUVENILE	TUCANNON R 35.0009	PT	<b>✓</b>
04/2009	04/2009	40,000	4.5	8,889	<b>JUVENILE</b>	TUCANNON R 35.0009		<b>✓</b>

Memo: Acclimate at Tucannon Hatchery prior to release.

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE EASTERN WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

**Stock:** TUCANNON R -ENDEMIC

**Brood Origin:** WILD

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	50,500	
Planted	50,000	11,111

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage	
Received	02/2010	02/2010	LYONS FERRY HATCHERY	50,500		JUVENILE	Ξ

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	10,000	4.5	2,222	JUVENILE	TUCANNON R 35.0009	PT	<b>V</b>
04/2010	04/2010	40,000	4.5	8,889	JUVENILE	TUCANNON R 35.0009		✓

Memo: Acclimate at Tucannon Hatchery prior to release.

# Future Brood Document 2008 Final WAITTS LK NET PENS

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	24,000	1,200
Planted	23,500	4,700

### **Estimated Brood Data**

Egg Take Goal

### **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds I	Life Stage
Received	10/2008	10/2008	SPOKANE HATCHERY	24,000	20.0	<b>1,200</b> J	JUVENILE

### **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	23,500	5.0	4,700	JUVENILE	WAITTS LK (STEV)		

# Future Brood Document 2008 Final WAITTS LK NET PENS

### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS EASTERN WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake Shipping		
Receive	24,000	1,200
Planted	23,500	4,700

### **Estimated Brood Data**

**Egg Take Goal** 

### **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	SPOKANE HATCHERY	24,000	20.0	1,200 JUVENILE

### **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	23,500	5.0	4,700	JUVENILE	WAITTS LK (STEV)		